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1. 00000000000000000

(a) f(x) = 2t (b) f(z) =sin®z + 2cos® z — sin z.

1
2. fz) = (x>0)00000 ¢() 100000g(;)00000000000

242

3.00 f,¢0000000f(2) =3, f(2)=4,93)=5,9(4)=6,¢(2)=74¢3)=800
00f0 ¢gO0000 AO00D00000 h(z)=¢(f(z)) 0000000OK(2) 0000000
0000

400000 0000000000000
(a) f(z) =ze®, (D) fx) =VI+z,  (c) f(z)=sin3a.

5. () 0000000000000 O000D0OD0O0D0O0O0O0OODOOOO0O0O0O0O0O0OO R,
UOn—ool 000000 2000000 DO0ODLOODODOOODOODDOO

(1) V14 =z, (2) sin3z.

()OO f(zr)=vV14+2z,e=0000000000000 n=2000000000v1.004
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6. 00O
{x:3CF>s€ (0<0<2m)
y = 2sinf
3



